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E xercises on hofomarphic curves FH3

Eos) @ veridy/correct T + )]
BF= 42 = (3,-00)3)F - (%) a3 + 3,395
@ for D€ compot domain and TEET(UR) | 5|,=0 show
Id¥h2 € UASH, + U3l by parctial intepration
@) same for TEET(S,R) on closed Riemn surface S
with A3 = wd4dT  with Hogge ¥ given by a mebnic on =

:

(@ for FeC zR) show 13012 < IAT s + 20T
Z N R = s lpli s | i £-0|
@ bub}:!fn; — as (n #2
Consider the maps Uglxiy) = [x*: ‘E)’z : xy]

we Desyd = DX 0@y’ - xy] | vgDx:yl=[ext: y*: xy]
describe their limits as €50 . In which topology | on which
subsct does the convergence hold 2 How is that related to the
behaviour of |dus| ,ldvl , ldwe| 2
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® Show that Aub($oz,) achs Freely
”?(J} ';{“‘51"5?"7 ,53“'-’0; Hcfsalﬂﬁsz‘ri].u(zo)ﬂ’ai

... Gnd prap-rﬂy diswh{:inuomf)r

for exercises D-O on board see lectwe script
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